1.

T(x+a)? + (
7} A=

@D -928



® 21 3 31 @ 41 3 51

D 11



3.

7 25

 A%e Fatol

e =
c



® 37 B 38 @ 39 B 40

@D 36



rd
oz

of

L

1003 x 1005+ 1

1004

=

At

o

ozt



FA BAE AHESHe], 201 x 199 & A4S o 714

@ (a+b)? =a®+2ab + b?
@ (a-b)?=a*-2ab + b?
® (a+b)(a-b)=a®-b?
@ (x+a)(x+b)=x*+(a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd



TA FA1S 0]-85f0] 14.98%15.02 = A
o]-&5t7] Mt HA FAS 1=H?

@ (x+a)(x+b)=x*+(a+b)x+ab
@ (x+a)? =%+ 2ax + a*
® (x-a)? =x%>-2ax+a®

@ (x+a)(x-a)=x*>-d°

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd



= AAtsteizt,

tod 10.3x 9.7

085



AA HEE? (2, b

a, b &

=
=

210] Yol

o

oA o

©
|

o}

9.

B ma’b?

® nab @ 2rab

@ 2ab

@D ab



10.

Tt o] o]zt 7x , A& ] ZAo]7} 4x <l
3 UHE Eol1 A2 dol=1 wE =9

=7

@ 20x2 —5x—3

@ 928x%2—-5x-3

e =X

@ 20x2-5x+3

B 28x2 +5x4+3

A pzkgel A 7 o] dol

o}, o] uf, AAzkge] Yol

® 28x* +5x—3



D x2+2x+15

@ 2 +3x-15

/’——:E_\\\
/
1
1
1
T
\
\
\
\
/ 3cm
5cm
\
@ x2+2x-15 @ x*-2x-15
B x2-3x-15



12.

& 0] Qol7h 202) BAZGNA Tz ok Aol ol g 217}
w2 5 ), A2 47 Ao Wl
@ 4x>+Tx+7 @ 4x2 +7x+12

@ 4x? + 14x 4+ 12 @ 2x%2 +7x+12

® 2x2 4+ 14x+ 12

33

4



13.

ohe A9 e FABAS BEste] Fakelw dek (
ofgho 19
2 X T

) el

(4+2)(42+22) (44+24) (48+28) (416+216) (432+232)+263
=920)

D 126 ® 127 3 128 @ 129 ® 130



14.

® 912 > (a+b)? = a® + 2ab + b?
@ 597% - (a-b)? = a® - 2ab + b*
® 1032 - (a + b)? = a® + 2ab + b?
@ 84x 75— (a+b)(a—b) = a® - b?

® 50.9x49.1 = (a+ b)(a—b) = a® — b>

ol-&



15. TS AlolA] 364 & x 2 Sto] FA FAS o]85to] AAtsHH?

364 x 366 — 728 — 363 x 365

D 1 @ 2 3 3 @ 4 B 5



16. 2% 34 34 (x +a)(x + b) = x> + (a + b)x + ab E °]-&3}H
Aitstzlel 74 weet 227

=
+

@® 872 @ 51x52 ® 13x7

@ 37x43 ® 512



